WE HAVE A SOLID CONSULTANT'S PLAN TO MAKE \$1.2 MILLION FOR YOU IN AS LITTLE AS FOUR & A HALF YEARS D LEGALLY.

Read this attached 2-page info.

Also, Read the attached 12-page info or get the 12-page from www.20kdeal.com

OR

Visit: www.dmarketgurus.com & www.20kdeal.com Thank you



Group

A Div of: Top Rank Business Associates Group of Companies.

HI, SEE BELOW FOR OUR PLAN TO MAKE OVER \$1 MILLION FOR YOU WITHIN 48 MONTHS. THAT'S IN 208 WEEKS LEGALLY.

Thank you for responding to our investment ad.

FIRST, We want you to sign up for this \$20K contract which promises to give you \$250,000.

After you've earned the \$1,202 for 26 weeks (6 months) = \$31,252

SECOND, Then we want you to sell the \$250,000 contract to a third party company for \$150,000 to \$200,000 and get the lump sum cash payment from the contract buyer.

THIRD, Once, you've received the lump sum cash, we want you to voluntarily re-invest \$50,000 into our company on a brand new contract and we'll be paying you \$5,000 (\$5K) weekly for 208 weeks = \$1,040,000 (\$1 Million and \$40,000 returns for you)

These would be 2 contracts for a total of \$1,290,000 promissory notes

At the end of 208 weeks (If you did not sell the \$1M contract to a 3rd party earlier), you'll have \$1,040,000 plus about \$150,000 - \$200,000 from your first contract.

That how we'll gradually earns you \$1.2 million within 4 and a half years. Not a get rich quick scheme

This is a Fail-proof or a Cannot-fail strategy and the only money that will eventually come out of your own pocket out of the total of \$70,000 investment would be just \$5,000 - \$20,000

Continue at page 2

In summary, \$20,000 investment will earn you \$250,000 with a \$1,202 weekly payments to you for 208 weeks. That's in 4 years.

Then another \$50,000 investment from you will earn you \$1,040,000 with a \$5,000 weekly payment to you for 208 weeks

This is do-able. Legal and Legitimate.

Our plan is to build Our marketing company into a standard \$1.2 Billion - \$2 Billion annual revenues generator.

Join us now, our networkers as well as our direct sellers agents at www.cashforce1.com are all eager to start working and selling for you

And at www.dmarketgurus.com we sell as well

Right now we are selling a gift card which is valid for 5 years to purchasers. That card has over 80 million market potential in the USA & Canada Market alone

We are building our sales team at cashforce1.com to reach 100,000 strong sales team. Ebay have more than 2 million sales people/sellers.

A lot of Network marketing companies has between 1,000 - 120,000

Join us and let's make money. Fax your \$20K contract to us for \$250K returns. Guaranteed & Realistic

Thanks
Be-a-millionaire.com team
20kdeal.com team

AN AGREEMENT AND A PROMISSORY NOTE TO INVEST \$20,000 (\$20K) INTO THIS VENTURE

and a promise by this company to pay me \$1,202 weekly for 208 weeks = \$250,000 income/returns (\$250K)

To: dmarketgurus.com. A2ZPublicity Grp. (Div: Top Rank Business Associates Group of Companies, Inc.) 1603 Capitol Ave. #310, A400, Cheyenne, WY. 82001, USA. Tel: 800-905-9530 Fax: 888-317-4874

MEMORANDUM OF UNDERSTANDING:

I WOULD LIKE TO JOIN THIS dmarketgurus.com WON-DERFUL CONCEPT. I understood that as an investor, I would purchase 100 online digital ad. spaces reservation for only \$20k with up to 50 salesreps/merchants

I understood that the <u>digital</u> ad space reservations are in the form of



48 gift cards which will be kept aside for me & re-stocked wkly. Each of the 48 sales reps/distributors are capable of selling 25 cards a week. The 48 cards could be easily sold by only 2

reps.

However, if each of the 48 reps sold only 1 card a week.

Average of 1 sales a week by 1 sales rep.on my behalf shall be \$99 x 48 sales reps = \$4,752 weekly income but

I'll be paid only \$1,202 weekly for 208 weeks = \$250,000.

Sell 1 spot to me now for \$20,000 (\$20K). Pay me \$1,202 weekly x 208 weeks.

Payments to me: My first payment would arrive in 37 days and every 7 days (every week) thereafter for 156 weeks...

HERE'S MY VOLUNTARY DECLARATION:

Whether I am an active or a silent participant of this program, I understood that this is a business opportunity investment and it is not securities

investment such as stocks, bonds, commodity trading, loan act or any form of loans or securities trading.

Products and Services are to be moved with my money by this consulting firm's own MERCHANTS and I am to be paid monthly & weekly.

I have , therefore, read and understood this contractual Agreement & all the supporting documents of this concept. Also, I've visited

www.dmarketgurus.com & all other supporting websites

I, therefore, have no further questions or all my questions or concerns has been answered satisfactorily prior to giving or sending my money.

This Contract once notarized becomes a legal document and it is legally binding

could be easily s	fold by offly 2	=	
My Name		Tel:()	
Address			Apt #:
City	State/Province	Zip/Postal Codes	<u> </u>
Country	Email:_		
Signature		Date	
THIS DOCUMENT	WILL BE LEGALLY NOTARIZ	ZED BY US (THE COMPANY	Y) AND ONE ORIGINAL COPY
WILL BE SENT TO	O YOU, THE INVESTOR.		
	Signature on Behalf of :	WWW.DMARKETGU	RUS.COM
Signature:	:: Name:		
Witnessed By: Name Address , signa	Commissioner For Oath ture, date:	or Notary Public:	

DMarketGurus.com

CHECK BY FAX AUTORIZATION

Fax to: 1-888-317-4874

This Check-by-Fax form provides a convenient way for you to expedite payment to **dmarketgu-rus.com**. Execute a check payable to **dmarketgurus.com** for the full amount of your invoice, as well as any penalties due.

Attach the check to this form in the location below.			
PLEASE ATTACH YOUR CHECK HERE			
Complete the information requested on this form, including a signature authorizing dmarketgurus.com to accept and negotiate the facsimile copy of the check in place of the actual check. Fax the document and the attached check to the above provided fax number. DO NOT MAIL THE ORIGINAL CHECK. I authorize dmarketgurus.com to accept the check above and to debit the bank account indicated according to the instructions on the draft/check			
By presenting us with a copy of your check by fax or in scanned/electronic methods, you, you have also agreed to pay a Non-Sufficient Funds (NSF) fee of \$25 if your bank rejects or dishonors your payment due to insufficient funds. If your payment is rejected by the bank, we may resubmit your original check amount plus the \$25 fee.			
FAXING THIS FORM CONSTITUTES YOUR AUTHORIZATION TO NEGOTIATE THE FACSIMILE CHECK. THE SIGNATURE ON THE CHECK MUST MATCH THE SIGNATURE ON THE FORM.			
Checking AccountCheck No.: Name and Contact Phone No.: Signature:			